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HEX S&A
A ARAMOIIE 29 ERAI S EH 3 ) )
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N HE - B9 (3H) - HEAY - BA=S %@ﬁ 2t
Z= B 3,293,703 3,250,938 42,765
F=HEX s& 3,224,403 3,200,938 23,465
AJRAUOIIIE 29 ANSEELIA) 3,224,403 3,200,938 23,465
SHHSHOIIE AIEE % 39,000 44,100 A5,100
401 AlEHIZL 2 0HY| 39,000 44,100 A5,100
01 Al& H| 39,000 44,100 A5,100
ONEHU ANEE VAT 5)
1,500,000 = 12Al CH 18,000
OJIZHL &, &8 S A
1,500,000 =14 Al CH 21,000
CHH2S0IIIE 2022l 22,880 12,880 10,000
201 LBt | 16,160 6, 160 10,000
01 AP 22| d| 120 120 0
O1 2Btx=2H| 120
DS 280 E MAZX =2
10,000& x12& 120
02 2%l 16,040 6,040 10,000
O1 222 2 AHA 640
D> CHHS2#O0MIE 50,000 «5All CH 250
DS 20 E B8 =
3,900 100 Al CH 390
O3 A& &H|l S XYl 15,400
DR A A 24
5,400,000 =14l 5,400
D> CHH 2 O0ITIIE Al S X2l
100, 000-& »100Afl CH 10,000
202 o4 H| 4,800 4,800 0
01 2L I 4,800 4,800 0
OANMNESXN ¥ 2AdE Mygsd odl
400,000& =12& 4,800
402 BI2H X 20| M 1,920 1,920 0
03 QI2HCH &4 AF S HI 1,920 1,920 0
OHAH2HOIIIE & 1522
600 =100l CH=12& 1,920
ol g1 4] 3,162,523 3,143,958 18,565
801 Ol 5l Hl 3,162,523 3,143,958 18,565
01 Btal bl bl 3,162,523 3,143,958 18,565
oolglgl 3, 162,523,000 « 1Al 3,162,523
PES (=) 69,300 50,000 19,300
BEXES(TEHALELESH) 69,300 50,000 19,300
1L eHekEt 69,300 50,000 19,300
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